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BE
/*while X3E&1 while test.c AV NERE >/
#include<stdio.h>
int main()

{

int a;

a=1; /* RYID—EZELTEITTEOEMBEELA>/

printf("EEREAIR ¥n");

while(a)

{

printf("aDEIZO LIS (BE) TT . ¥n");
printf("1 (&) h0(#)E A AL TT LY, ¥n");
scanf("%d",&a);

ks
printf("aD EMNO(&) IT7GYELT=, ¥n™);
printf("3EERH& T¥n");
return O;
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HABLEEA
#define LOOPMAX 100

int main()
{
inti; /*IL—TJhora*/

i=0; /* IL—THhOL2DMEAIL*/
while( i < LOOPMAX) /*5&{44I|r*/
{

i++; [*IL—THOBADA DA */
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/* infty_loop.c ERIL—TEER(QANEEE) */
#include<stdio.h>
int main()
{
printf(" &R JL—TEERBIR ¥n™);
while(1)
{
printf("*¥n");
printf("**¥n");
printf("***¥n");
printf("****¥n");
printf("*****¥n");
printf("******¥n™);
s
printf("&IZEITINLLY, ¥n');
return O;
bs
break3
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(break;) I
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break;
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ERL B :yyyy/mm/dd

YERCE  RIEAXED

FEEERE BOzBOxx

VY—RXI7A)L:mysqgrt.c

E{TI774)L :mysqrt

BB —a— b RERWTEAREROZTOTS L,

ELHEDREZE D IEXHMEAEPS(1. 0e-5)KY /NS EE(C
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#include <stdio.h>
#include<math.h>

/*7yaEE*/
#define EPS (1.0e-5) /*UNE  WUREH */
#define LOOPMAX 1000 /* #&YRL®D LIRIE*/
int main()
{
/* EHES */
double input; /* ANSNBEEH, —a—FEZDEHAE>/
double old_x; /* HAEXDEBTRWSX/
double new_x; /> HAEXDEBDTRWNSEH x>/
double sa; /> BEEDIERE*/
int kaisuu; /%8R L %>/
/* RR—=U 57 >/

/* ARIE*/
printf("FEAIRERKDET . ¥n");
printf("IEDEHHZE A NLTT I, ¥n™);
scanf("%lf",&input);

/* AHEFTYI*/
if(input ==0.0)
{ /*input=0.0D&EIL. BASMIZONFHIR*/
printf("%6.2f NDFEAHRIL%6.2fTT, ¥n”,input,0.0);
return O;

b
else if(input<0.0)
{
/=inputh B D LE*/
printf("E NGO T, EHDEARIEIHYFEE A ¥n");
return -1;

b
* ZHUETIE, inputlXIEDEE>/
[*ROR— (>,
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[*=a—bED R E>/
old_x=input; /*=a—bk2EDHMEAEZinputlZFEE>/

new_x=0.0;

sa=fabs(new_x-old_Xx);

kaisuu=0;

/18R LALEE>/

while(sa > EPS)/*fE = MNEPS&YKEL\E#EY RG>/
{

printf("x%d = %15.8f ¥n" kaisuu,old_x);/*&HRT*/

new_x=(old_x+input/old_x)/2.0; /*#&{t=RX*/
sa=fabs(new_x-old_x); /*EEDIEXHES/

/* ROBYRLDF=HDINIE */
old_x=new_x;
kaisuu++;
if(kaisuu=>=LOOPMAX)
{ /7RBRYBLEHOLREZEZI-OTERT I 5>/
break;
b
b

[*RDR—D(H5 <>/

/* fwE >/
/>t A/

printf("%6.2f MF AR (E%15.8fTF, ¥n”,input,new_x);

return O;
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